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Appendix  

Appendix A 

– Appendix A1 

The coefficients in equations (10-13): 
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+ For the second case: 

The expressions of iE  are similar to the first case by replacing cE  by mE  and mcE  

by cmE . 

– Appendix A2 

The coefficients in equations (14-16): 
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23 12 12 15 22 24 ,Y E B X B X= − −  

24 22 22 25 12 16 ,Y E B X B X= − −  
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24 12 18 22 27 ,Z C X C X= +  

25 12 19 22 28,Z C X C X= +  

31 66 66 33.Z L C X= −   

Appendix B 

The coefficients in system of equation (26) 
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in which 
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Appendix C 

The coefficients in equation (33) 
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